LakeCounty Division of Transportation	n					
	S	Summary of Bids Receiv	/ed			
•	ect: Washington St Resurfacing)				
	on: 19-00135-15-RS					
•	on: Mill and fill resurfacing Pin: B-01479					
	ate: 2/9/2021					
Bidder	Address	City, State, Zip	Bond	Bid Price	% Over/Under Eng. Estimate	\$ Over/Under Eng. Estimate
Peter Baker & Son Company	1349 Rockland Road	Lake Bluff, IL 60044	Bid Bond	\$1,984,272.14	-	-\$980,941.26
J. A. Johnson Paving Company	1025 E. Addison Court	Arlington Heights, IL 60005	Bid Bond	\$2,126,117.24	-28.30%	-\$839,096.16
Payne & Dolan, Inc.	28435 W. Route 173	Antioch, IL 60002	Bid Bond	\$2,312,364.58	-22.02%	-\$652,848.82
Engineer's Estimate				\$2,965,213.40		
Design	IDOT(2)	Contract Bidder		County Engineer		
Finance	Bid Tab File	Resident Eng.		Mgr Capital Progra	mming	
Construction	Project File	Request By Mail				



Project: Washington St Resurfacing Section: 19-00135-15-RS Description: Mill and fill resurfacing

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	J. A. Johnson Pa	aving Company	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.	. uy couc		~	J	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
1	20200100	EARTH EXCAVATION	46.0	CU YD	\$150.00	\$6,900.00	\$50.00	\$2,300.00	\$52.00	\$2,392.00	\$62.00	\$2,852.00
2	20400800	FURNISHED EXCAVATION	20.0	CU YD	\$85.00	\$1,700.00	\$30.00	\$600.00	\$50.00	\$1,000.00	\$30.00	\$600.00
3	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	1,300.0	SQ YD	\$10.00	\$13,000.00	\$4.50	\$5,850.00	\$4.00	\$5,200.00	\$4.00	\$5,200.00
4	25000210	SEEDING, CLASS 2A	0.3	ACRE	\$9,700.00	\$2,910.00	\$2,000.00	\$600.00	\$4,840.00	\$1,452.00	\$4,840.00	\$1,452.00
5	25000400	NITROGEN FERTILIZER NUTRIENT	25.0	POUND	\$10.00	\$250.00	\$1.10	\$27.50	\$1.00	\$25.00	\$1.00	\$25.00
6	25000600	POTASSIUM FERTILIZER NUTRIENT	25.0	POUND	\$10.00	\$250.00	\$1.10	\$27.50	\$1.00	\$25.00	\$1.00	\$25.00
7	25100630	EROSION CONTROL BLANKET	1,020.0	SQ YD	\$9.00	\$9,180.00	\$1.25	\$1,275.00	\$1.20	\$1,224.00	\$1.20	\$1,224.00
8	28000400	PERIMETER EROSION BARRIER	2,480.0	FOOT	\$4.00	\$9,920.00	\$3.00	\$7,440.00	\$2.50	\$6,200.00	\$2.50	\$6,200.00
9	28000510	INLET FILTERS	31.0	EACH	\$190.00	\$5,890.00	\$200.00	\$6,200.00	\$150.00	\$4,650.00	\$160.00	\$4,960.00
10	35101600	AGGREGATE BASE COURSE, TYPE B 4"	303.0	SQ YD	\$10.00	\$3,030.00	\$5.00	\$1,515.00	\$5.50	\$1,666.50	\$5.50	\$1,666.50
11	35101800	AGGREGATE BASE COURSE, TYPE B 6"	115.0	SQ YD	\$15.00	\$1,725.00	\$26.00	\$2,990.00	\$15.00	\$1,725.00	\$23.05	\$2,650.75
12	35102000	AGGREGATE BASE COURSE, TYPE B 8"	40.0	SQ YD	\$20.00	\$800.00	\$46.00	\$1,840.00	\$35.00	\$1,400.00	\$30.25	\$1,210.00
13	40600290	BITUMINOUS MATERIALS (TACK COAT)	56,805.0	POUND	\$1.00	\$56,805.00	\$0.01	\$568.05	\$0.01	\$568.05	\$0.01	\$568.05
14		MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	126.0	TON	\$190.00	\$23,940.00	\$100.00	\$12,600.00	\$215.00	\$27,090.00	\$175.00	\$22,050.00
15		HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	140.0	TON	\$160.00	\$22,400.00	\$122.00	\$17,080.00	\$105.50	\$14,770.00	\$96.65	\$13,531.00
16		POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	3,369.0	TON	\$90.00	\$303,210.00	\$91.00	\$306,579.00	\$97.50	\$328,477.50	\$83.85	\$282,490.65
17		HOT-MIX ASPHALT SURFACE COURSE, IL- 9.5, MIX "D", N50	26.0	TON	\$250.00	\$6,500.00	\$142.00	\$3,692.00	\$127.00	\$3,302.00	\$191.00	\$4,966.00
18	40604172	POLYMERIZED HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "E", N70	7,912.0	TON	\$90.00	\$712,080.00	\$96.00	\$759,552.00	\$88.00	\$696,256.00	\$80.20	\$634,542.40
19	42001300	PROTECTIVE COAT	719.0	SQ YD	\$4.00	\$2,876.00	\$0.10	\$71.90	\$0.10	\$71.90	\$0.10	\$71.90
20	42400200	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	2,341.0	SQ FT	\$15.00	\$35,115.00	\$6.50	\$15,216.50	\$6.50	\$15,216.50	\$6.50	\$15,216.50
21	42400410	PORTLAND CEMENT CONCRETE SIDEWALK 8 INCH	381.0	SQ FT	\$25.00	\$9,525.00	\$7.00	\$2,667.00	\$7.00	\$2,667.00	\$7.00	\$2,667.00
22	42400800	DETECTABLE WARNINGS	285.0	SQ FT	\$40.00	\$11,400.00	\$32.00	\$9,120.00	\$32.00	\$9,120.00	\$32.00	\$9,120.00
23		HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	83,949.0	SQ YD	\$5.00	\$419,745.00	\$2.20	\$184,687.80	\$1.62	\$135,997.38	\$2.50	\$209,872.50



Project: Washington St Resurfacing Section: 19-00135-15-RS Description: Mill and fill resurfacing

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	J. A. Johnson Pa	aving Company	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.	1 ay Code	Description	Quantity	Oint	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
24	44000200	DRIVEWAY PAVEMENT REMOVAL	82.0	SQ YD	\$60.00	\$4,920.00	\$25.00	\$2,050.00	\$48.95	\$4,013.90	\$21.55	\$1,767.10
25	44000500	COMBINATION CURB AND GUTTER REMOVAL	1,266.0	FOOT	\$11.00	\$13,926.00	\$5.00	\$6,330.00	\$5.00	\$6,330.00	\$5.00	\$6,330.00
26	44000600	SIDEWALK REMOVAL	1,780.0	SQ FT	\$7.00	\$12,460.00	\$1.25	\$2,225.00	\$1.25	\$2,225.00	\$1.25	\$2,225.00
27	44201749	CLASS D PATCHES, TYPE I, 9 INCH	420.0	SQ YD	\$70.00	\$29,400.00	\$15.00	\$6,300.00	\$72.00	\$30,240.00	\$30.00	\$12,600.00
28	44201753	CLASS D PATCHES, TYPE II, 9 INCH	630.0	SQ YD	\$65.00	\$40,950.00	\$15.00	\$9,450.00	\$68.00	\$42,840.00	\$30.00	\$18,900.00
29	44201757	CLASS D PATCHES, TYPE III, 9 INCH	1,890.0	SQ YD	\$60.00	\$113,400.00	\$15.00	\$28,350.00	\$58.00	\$109,620.00	\$30.00	\$56,700.00
30	44201759	CLASS D PATCHES, TYPE IV, 9 INCH	1,260.0	SQ YD	\$55.00	\$69,300.00	\$15.00	\$18,900.00	\$50.00	\$63,000.00	\$30.00	\$37,800.00
31	48101200	AGGREGATE SHOULDERS, TYPE B	36.0	TON	\$73.00	\$2,628.00	\$65.00	\$2,340.00	\$100.00	\$3,600.00	\$60.00	\$2,160.00
32	60250200	CATCH BASINS TO BE ADJUSTED	3.0	EACH	\$730.00	\$2,190.00	\$400.00	\$1,200.00	\$400.00	\$1,200.00	\$315.00	\$945.00
33	60252800	CATCH BASINS TO BE RECONSTRUCTED	2.0	EACH	\$1,600.00	\$3,200.00	\$1,250.00	\$2,500.00	\$1,250.00	\$2,500.00	\$1,600.00	\$3,200.00
34	60255500	MANHOLES TO BE ADJUSTED	1.0	EACH	\$1,600.00	\$1,600.00	\$600.00	\$600.00	\$485.00	\$485.00	\$485.00	\$485.00
35	60260100	INLETS TO BE ADJUSTED	31.0	EACH	\$360.00	\$11,160.00	\$400.00	\$12,400.00	\$400.00	\$12,400.00	\$395.00	\$12,245.00
36	60262700	INLETS TO BE RECONSTRUCTED	2.0	EACH	\$1,300.00	\$2,600.00	\$1,150.00	\$2,300.00	\$1,000.00	\$2,000.00	\$1,600.00	\$3,200.00
37		INLETS TO BE RECONSTRUCTED WITH NEW TYPE 24 FRAME AND GRATE	1.0	EACH	\$1,500.00	\$1,500.00	\$1,200.00	\$1,200.00	\$1,400.00	\$1,400.00	\$1,920.00	\$1,920.00
38	60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	44.0	FOOT	\$62.00	\$2,728.00	\$45.00	\$1,980.00	\$45.00	\$1,980.00	\$45.00	\$1,980.00
39	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	49.0	FOOT	\$84.00	\$4,116.00	\$45.00	\$2,205.00	\$45.00	\$2,205.00	\$45.00	\$2,205.00
40	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	1,153.0	FOOT	\$74.00	\$85,322.00	\$33.00	\$38,049.00	\$33.00	\$38,049.00	\$33.00	\$38,049.00
41	60619600	CONCRETE MEDIAN, TYPE SB-6.12	86.0	SQ FT	\$25.00	\$2,150.00	\$14.00	\$1,204.00	\$14.00	\$1,204.00	\$14.00	\$1,204.00
42	67100100	MOBILIZATION	1.0	L SUM	\$135,000.00	\$135,000.00	\$120,000.00	\$120,000.00	\$238,000.00	\$238,000.00	\$84,325.00	\$84,325.00
43	70107025	CHANGEABLE MESSAGE SIGN	120.0	CAL DA	\$60.00	\$7,200.00	\$20.00	\$2,400.00	\$25.00	\$3,000.00	\$25.00	\$3,000.00
44	70300100	SHORT-TERM PAVEMENT MARKING	16,113.0	FOOT	\$1.00	\$16,113.00	\$0.01	\$161.13	\$0.35	\$5,639.55	\$0.01	\$161.13
45	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	5,371.0	SQ FT	\$1.00	\$5,371.00	\$0.01	\$53.71	\$0.01	\$53.71	\$0.01	\$53.71



Project: Washington St Resurfacing Section: 19-00135-15-RS Description: Mill and fill resurfacing

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	J. A. Johnson Pa	iving Company	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.	. uy couc	Boompilen	Quantity	Omit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
46		PAVEMENT MARKING TAPE, TYPE IV - LETTERS AND SYMBOLS	1,190.0	SQ FT	\$3.00	\$3,570.00	\$0.01	\$11.90	\$2.00	\$2,380.00	\$0.01	\$11.90
47	70300904	PAVEMENT MARKING TAPE, TYPE IV 4	31,330.0	FOOT	\$0.50	\$15,665.00	\$0.01	\$313.30	\$0.45	\$14,098.50	\$0.01	\$313.30
48	70300906	PAVEMENT MARKING TAPE, TYPE IV 6"	4,920.0	FOOT	\$1.00	\$4,920.00	\$0.01	\$49.20	\$0.45	\$2,214.00	\$0.01	\$49.20
49	70300924	PAVEMENT MARKING TAPE, TYPE IV 24"	511.0	FOOT	\$4.00	\$2,044.00	\$0.01	\$5.11	\$2.00	\$1,022.00	\$0.01	\$5.11
50		RELOCATE SIGN PANEL ASSEMBLY - TYPE A	1.0	EACH	\$250.00	\$250.00	\$650.00	\$650.00	\$150.00	\$150.00	\$150.00	\$150.00
51	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1,082.0	SQ FT	\$5.00	\$5,410.00	\$4.00	\$4,328.00	\$4.65	\$5,031.30	\$4.00	\$4,328.00
52		THERMOPLASTIC PAVEMENT MARKING - LINE 4"	30,857.0	FOOT	\$0.50	\$15,428.50	\$0.50	\$15,428.50	\$0.54	\$16,662.78	\$0.50	\$15,428.50
53		THERMOPLASTIC PAVEMENT MARKING - LINE 5"	12,443.0	FOOT	\$0.75	\$9,332.25	\$0.55	\$6,843.65	\$0.55	\$6,843.65	\$0.55	\$6,843.65
54		THERMOPLASTIC PAVEMENT MARKING - LINE 6"	7,092.0	FOOT	\$1.00	\$7,092.00	\$0.70	\$4,964.40	\$0.80	\$5,673.60	\$0.70	\$4,964.40
55		THERMOPLASTIC PAVEMENT MARKING - LINE 12"	4,509.0	FOOT	\$4.50	\$20,290.50	\$1.50	\$6,763.50	\$1.60	\$7,214.40	\$1.50	\$6,763.50
56		THERMOPLASTIC PAVEMENT MARKING - LINE 24"	465.0	FOOT	\$6.00	\$2,790.00	\$4.00	\$1,860.00	\$4.65	\$2,162.25	\$4.00	\$1,860.00
57		PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 4"	4,505.0	FOOT	\$1.00	\$4,505.00	\$5.50	\$24,777.50	\$5.65	\$25,453.25	\$5.50	\$24,777.50
58		MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	37.0	SQ FT	\$11.00	\$407.00	\$5.00	\$185.00	\$10.00	\$370.00	\$5.00	\$185.00
59		MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	376.0	FOOT	\$1.00	\$376.00	\$1.00	\$376.00	\$1.60	\$601.60	\$1.00	\$376.00
60	78009005	MODIFIED URETHANE PAVEMENT MARKING - LINE 5"	311.0	FOOT	\$1.50	\$466.50	\$1.25	\$388.75	\$1.85	\$575.35	\$1.25	\$388.75
61	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	531.0	FOOT	\$2.50	\$1,327.50	\$2.00	\$1,062.00	\$2.25	\$1,194.75	\$2.00	\$1,062.00
62		MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	292.0	FOOT	\$5.00	\$1,460.00	\$3.00	\$876.00	\$5.55	\$1,620.60	\$3.00	\$876.00
63		MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	104.0	FOOT	\$10.00	\$1,040.00	\$5.00	\$520.00	\$10.00	\$1,040.00	\$5.00	\$520.00
64		RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	1,768.0	EACH	\$9.00	\$15,912.00	\$1.00	\$1,768.00	\$7.79	\$13,772.72	\$1.00	\$1,768.00



Project: Washington St Resurfacing Section: 19-00135-15-RS Description: Mill and fill resurfacing

Item	Pay Code	Description	Quantity	Unit	Eng Es	timate	J. A. Johnson Pa	ving Company	Payne & D	olan, Inc.	Peter Baker &	Son Company
No.	l uy couc	Boompilen	quantity	Oiiit	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
65		MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	2.0	EACH	\$2,150.00	\$4,300.00	\$880.00	\$1,760.00	\$880.00	\$1,760.00	\$880.00	\$1,760.00
66	88600600	DETECTOR LOOP REPLACEMENT	349.0	FOOT	\$27.00	\$9,423.00	\$17.40	\$6,072.60	\$17.40	\$6,072.60	\$17.40	\$6,072.60
67		REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	2.0	EACH	\$1,750.00	\$3,500.00	\$880.00	\$1,760.00	\$880.00	\$1,760.00	\$880.00	\$1,760.00
68	LC200051	REJECTED LOAD TRANSPORTATION	2.0	LOAD	\$500.00	\$1,000.00	\$300.00	\$600.00	\$550.00	\$1,100.00	\$250.00	\$500.00
69	LC200052	EXCAVATING EXISTING SHOULDER	25.0	UNIT	\$325.00	\$8,125.00	\$375.00	\$9,375.00	\$600.00	\$15,000.00	\$440.00	\$11,000.00
70		MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	22,172.0	UNIT	\$1.00	\$22,172.00	\$1.00	\$22,172.00	\$1.00	\$22,172.00	\$1.00	\$22,172.00
71	LC400202	SEAL COAT	386.0	SQ YD	\$40.00	\$15,440.00	\$6.50	\$2,509.00	\$10.00	\$3,860.00	\$6.50	\$2,509.00
72	LC600200	INSTALL SURVEY MONUMENTS	7.0	EACH	\$440.00	\$3,080.00	\$1,000.00	\$7,000.00	\$1,000.00	\$7,000.00	\$470.00	\$3,290.00
73	X0325748	ACRYLIC COATING	382.0	SQ YD	\$40.00	\$15,280.00	\$4.00	\$1,528.00	\$5.00	\$1,910.00	\$5.00	\$1,910.00
74	X0327036	BIKE PATH REMOVAL	145.0	SQ YD	\$15.00	\$2,175.00	\$19.00	\$2,755.00	\$21.00	\$3,045.00	\$24.70	\$3,581.50
75	X1800024	DECORATIVE STONE	1,392.0	SQ FT	\$5.00	\$6,960.00	\$15.00	\$20,880.00	\$14.50	\$20,184.00	\$18.00	\$25,056.00
76		GROOVING FOR RECESSED PAVEMENT MARKING 8"	4,505.0	FOOT	\$1.20	\$5,406.00	\$0.75	\$3,378.75	\$0.75	\$3,378.75	\$0.75	\$3,378.75
77	X2800500	INLET PROTECTION, SPECIAL	2.0	EACH	\$250.00	\$500.00	\$300.00	\$600.00	\$300.00	\$600.00	\$540.00	\$1,080.00
78		HOT-MIX ASPHALT SURFACE REMOVAL VARIABLE DEPTH	4,397.0	SQ YD	\$20.00	\$87,940.00	\$2.20	\$9,673.40	\$7.25	\$31,878.25	\$9.50	\$41,771.50
79		FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	11.0	EACH	\$1,100.00	\$12,100.00	\$1,200.00	\$13,200.00	\$1,400.00	\$15,400.00	\$880.00	\$9,680.00
80		ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3.0	CAL MO	\$3,000.00	\$9,000.00	\$2,500.00	\$7,500.00	\$3,300.00	\$9,900.00	\$1,000.00	\$3,000.00
81		TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$135,000.00	\$135,000.00	\$126,800.00	\$126,800.00	\$14,475.00	\$14,475.00	\$48,835.00	\$48,835.00
82		TEMPORARY PAVEMENT MARKING REMOVAL	15,115.0	SQ FT	\$0.50	\$7,557.50	\$0.01	\$151.15	\$0.30	\$4,534.50	\$0.01	\$151.15
83		GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	1,269.0	SQ FT	\$2.00	\$2,538.00	\$1.60	\$2,030.40	\$1.50	\$1,903.50	\$1.60	\$2,030.40
84		GROOVING FOR RECESSED PAVEMENT MARKING 5"	23,978.0	FOOT	\$0.50	\$11,989.00	\$0.28	\$6,713.84	\$0.30	\$7,193.40	\$0.28	\$6,713.84
85		GROOVING FOR RECESSED PAVEMENT MARKING 6"	12,443.0	FOOT	\$0.75	\$9,332.25	\$0.40	\$4,977.20	\$0.45	\$5,599.35	\$0.40	\$4,977.20



Project: Washington St Resurfacing Section: 19-00135-15-RS Description: Mill and fill resurfacing

	Item Eng Estimate J. A. Johnson Paving Company Payne & Dolan, Inc. Peter Baker & Son Company											
Item No.	Pay Code	Description	Quantity	Unit	Eng Est	imate	J. A. Johnson Pa	ving Company	Payne & D	olan, Inc.	Peter Baker &	Son Company
110.					Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price	Unit Price	Extnd. Price
86		GROOVING FOR RECESSED PAVEMENT MARKING 7"	7,092.0	FOOT	\$1.00	\$7,092.00	\$0.55	\$3,900.60	\$0.57	\$4,042.44	\$0.55	\$3,900.60
87		GROOVING FOR RECESSED PAVEMENT MARKING 13"	4,509.0	FOOT	\$1.60	\$7,214.40	\$1.60	\$7,214.40	\$0.95	\$4,283.55	\$1.60	\$7,214.40
88		GROOVING FOR RECESSED PAVEMENT MARKING 25"	465.0	FOOT	\$3.00	\$1,395.00	\$3.00	\$1,395.00	\$1.50	\$697.50	\$3.00	\$1,395.00
89	X8140115	HANDHOLE TO BE ADJUSTED	1.0	EACH	\$1,000.00	\$1,000.00	\$2,347.00	\$2,347.00	\$2,347.00	\$2,347.00	\$2,347.00	\$2,347.00
90		VIDEO DETECTION SYSTEM COMPLETE INTERSECTION	2.0	EACH	\$32,650.00	\$65,300.00	\$23,927.00	\$47,854.00	\$23,927.00	\$47,854.00	\$23,927.00	\$47,854.00
91		PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	1,500.0	FOOT	\$4.00	\$6,000.00	\$10.00	\$15,000.00	\$8.50	\$12,750.00	\$8.50	\$12,750.00
92		DRAINAGE STRUCTURES TO BE CLEANED AND GROUTED	69.0	EACH	\$350.00	\$24,150.00	\$525.00	\$36,225.00	\$525.00	\$36,225.00	\$475.00	\$32,775.00
93	Z0013798	CONSTRUCTION LAYOUT	1.0	L SUM	\$27,000.00	\$27,000.00	\$8,495.00	\$8,495.00	\$8,495.00	\$8,495.00	\$5,500.00	\$5,500.00
94	Z0033700	LONGITUDINAL JOINT SEALANT	38,191.0	FOOT	\$3.00	\$114,573.00	\$2.00	\$76,382.00	\$2.00	\$76,382.00	\$2.20	\$84,020.20
		Bid Total				\$2,965,213.40		\$2,126,117.24		\$2,312,364.58		\$1,984,272.14



Project: Washington St Resurfacing

Section: 19-00135-15-RS

Description: Mill and fill resurfacing

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray code	Description	Quantity	Oilit	Unit Price	Extnd. Price	Price	Price	Price
1	20200100	EARTH EXCAVATION	46.0	CU YD	\$150.00	\$6,900.00	\$50.00	\$62.00	\$54.67
2	20400800	FURNISHED EXCAVATION	20.0	CU YD	\$85.00	\$1,700.00	\$30.00	\$50.00	\$36.67
3	21101600	TOPSOIL FURNISH AND PLACE, VARIABLE DEPTH	1,300.0	SQ YD	\$10.00	\$13,000.00	\$4.00	\$4.50	\$4.17
4	25000210	SEEDING, CLASS 2A	0.3	ACRE	\$9,700.00	\$2,910.00	\$2,000.00	\$4,840.00	\$3,893.33
5	25000400	NITROGEN FERTILIZER NUTRIENT	25.0	POUND	\$10.00	\$250.00	\$1.00	\$1.10	\$1.03
6	25000600	POTASSIUM FERTILIZER NUTRIENT	25.0	POUND	\$10.00	\$250.00	\$1.00	\$1.10	\$1.03
7	25100630	EROSION CONTROL BLANKET	1,020.0	SQ YD	\$9.00	\$9,180.00	\$1.20	\$1.25	\$1.22
8	28000400	PERIMETER EROSION BARRIER	2,480.0	FOOT	\$4.00	\$9,920.00	\$2.50	\$3.00	\$2.67
9	28000510	INLET FILTERS	31.0	EACH	\$190.00	\$5,890.00	\$150.00	\$200.00	\$170.00
10	35101600	AGGREGATE BASE COURSE, TYPE B 4"	303.0	SQ YD	\$10.00	\$3,030.00	\$5.00	\$5.50	\$5.33
11	35101800	AGGREGATE BASE COURSE, TYPE B 6"	115.0	SQ YD	\$15.00	\$1,725.00	\$15.00	\$26.00	\$21.35
12	35102000	AGGREGATE BASE COURSE, TYPE B 8"	40.0	SQ YD	\$20.00	\$800.00	\$30.25	\$46.00	\$37.08
13	40600290	BITUMINOUS MATERIALS (TACK COAT)	56,805.0	POUND	\$1.00	\$56,805.00	\$0.01	\$0.01	\$0.01
14	40000400	MIXTURE FOR CRACKS, JOINTS, AND FLANGEWAYS	126.0	TON	\$190.00	\$23,940.00	\$100.00	\$215.00	\$163.33



Project: Washington St Resurfacing

Section: 19-00135-15-RS

Description: Mill and fill resurfacing

ltem	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray code	Description	Quantity	Oilit	Unit Price	Extnd. Price	Price	Price	Price
15	40603085	HOT-MIX ASPHALT BINDER COURSE, IL-19.0, N70	140.0	TON	\$160.00	\$22,400.00	\$96.65	\$122.00	\$108.05
16	700603200	POLYMERIZED HOT-MIX ASPHALT BINDER COURSE, IL-4.75, N50	3,369.0	TON	\$90.00	\$303,210.00	\$83.85	\$97.50	\$90.78
17	///////////////////////////////////////	HOT-MIX ASPHALT SURFACE COURSE, IL- 9.5, MIX "D", N50	26.0	TON	\$250.00	\$6,500.00	\$127.00	\$191.00	\$153.33
18		POLYMERIZED HOT-MIX ASPHALT SURFACE COURSE, IL-9.5, MIX "E", N70	7,912.0	TON	\$90.00	\$712,080.00	\$80.20	\$96.00	\$88.07
19	42001300	PROTECTIVE COAT	719.0	SQ YD	\$4.00	\$2,876.00	\$0.10	\$0.10	\$0.10
20	71.3711111.31111	PORTLAND CEMENT CONCRETE SIDEWALK 5 INCH	2,341.0	SQ FT	\$15.00	\$35,115.00	\$6.50	\$6.50	\$6.50
21	42400410	PORTLAND CEMENT CONCRETE SIDEWALK 8 INCH	381.0	SQ FT	\$25.00	\$9,525.00	\$7.00	\$7.00	\$7.00
22	42400800	DETECTABLE WARNINGS	285.0	SQ FT	\$40.00	\$11,400.00	\$32.00	\$32.00	\$32.00
23		HOT-MIX ASPHALT SURFACE REMOVAL, 2 1/2"	83,949.0	SQ YD	\$5.00	\$419,745.00	\$1.62	\$2.50	\$2.11
24	44000200	DRIVEWAY PAVEMENT REMOVAL	82.0	SQ YD	\$60.00	\$4,920.00	\$21.55	\$48.95	\$31.83
25		COMBINATION CURB AND GUTTER REMOVAL	1,266.0	FOOT	\$11.00	\$13,926.00	\$5.00	\$5.00	\$5.00
26	44000600	SIDEWALK REMOVAL	1,780.0	SQ FT	\$7.00	\$12,460.00	\$1.25	\$1.25	\$1.25
27	44201749	CLASS D PATCHES, TYPE I, 9 INCH	420.0	SQ YD	\$70.00	\$29,400.00	\$15.00	\$72.00	\$39.00



Project: Washington St Resurfacing

Section: 19-00135-15-RS

Description: Mill and fill resurfacing

Item	Day Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
28	44201753	CLASS D PATCHES, TYPE II, 9 INCH	630.0	SQ YD	\$65.00	\$40,950.00	\$15.00	\$68.00	\$37.67
29	44201757	CLASS D PATCHES, TYPE III, 9 INCH	1,890.0	SQ YD	\$60.00	\$113,400.00	\$15.00	\$58.00	\$34.33
30	44201759	CLASS D PATCHES, TYPE IV, 9 INCH	1,260.0	SQ YD	\$55.00	\$69,300.00	\$15.00	\$50.00	\$31.67
31	48101200	AGGREGATE SHOULDERS, TYPE B	36.0	TON	\$73.00	\$2,628.00	\$60.00	\$100.00	\$75.00
32	60250200	CATCH BASINS TO BE ADJUSTED	3.0	EACH	\$730.00	\$2,190.00	\$315.00	\$400.00	\$371.67
33	60252800	CATCH BASINS TO BE RECONSTRUCTED	2.0	EACH	\$1,600.00	\$3,200.00	\$1,250.00	\$1,600.00	\$1,366.67
34	60255500	MANHOLES TO BE ADJUSTED	1.0	EACH	\$1,600.00	\$1,600.00	\$485.00	\$600.00	\$523.33
35	60260100	INLETS TO BE ADJUSTED	31.0	EACH	\$360.00	\$11,160.00	\$395.00	\$400.00	\$398.33
36	60262700	INLETS TO BE RECONSTRUCTED	2.0	EACH	\$1,300.00	\$2,600.00	\$1,000.00	\$1,600.00	\$1,250.00
37	60264140	INLETS TO BE RECONSTRUCTED WITH NEW TYPE 24 FRAME AND GRATE	1.0	EACH	\$1,500.00	\$1,500.00	\$1,200.00	\$1,920.00	\$1,506.67
38	60603800	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12	44.0	FOOT	\$62.00	\$2,728.00	\$45.00	\$45.00	\$45.00
39	60603900	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.12 (ABUTTING EXISTING PAVEMENT)	49.0	FOOT	\$84.00	\$4,116.00	\$45.00	\$45.00	\$45.00
40	60605100	COMBINATION CONCRETE CURB AND GUTTER, TYPE B-6.24 (ABUTTING EXISTING PAVEMENT)	1,153.0	FOOT	\$74.00	\$85,322.00	\$33.00	\$33.00	\$33.00



Project: Washington St Resurfacing

Section: 19-00135-15-RS

Description: Mill and fill resurfacing

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	ray code	Description	Quantity	Oilit	Unit Price	Extnd. Price	Price	Price	Price
41	60619600	CONCRETE MEDIAN, TYPE SB-6.12	86.0	SQ FT	\$25.00	\$2,150.00	\$14.00	\$14.00	\$14.00
42	67100100	MOBILIZATION	1.0	L SUM	\$135,000.00	\$135,000.00	\$84,325.00	\$238,000.00	\$147,441.67
43	70107025	CHANGEABLE MESSAGE SIGN	120.0	CAL DA	\$60.00	\$7,200.00	\$20.00	\$25.00	\$23.33
44	70300100	SHORT-TERM PAVEMENT MARKING	16,113.0	FOOT	\$1.00	\$16,113.00	\$0.01	\$0.35	\$0.12
45	70300150	SHORT TERM PAVEMENT MARKING REMOVAL	5,371.0	SQ FT	\$1.00	\$5,371.00	\$0.01	\$0.01	\$0.01
46	70300900	PAVEMENT MARKING TAPE, TYPE IV - LETTERS AND SYMBOLS	1,190.0	SQ FT	\$3.00	\$3,570.00	\$0.01	\$2.00	\$0.67
47	70300904	PAVEMENT MARKING TAPE, TYPE IV 4	31,330.0	FOOT	\$0.50	\$15,665.00	\$0.01	\$0.45	\$0.16
48	70300906	PAVEMENT MARKING TAPE, TYPE IV 6"	4,920.0	FOOT	\$1.00	\$4,920.00	\$0.01	\$0.45	\$0.16
49	70300924	PAVEMENT MARKING TAPE, TYPE IV 24"	511.0	FOOT	\$4.00	\$2,044.00	\$0.01	\$2.00	\$0.67
50	72400500	RELOCATE SIGN PANEL ASSEMBLY - TYPE A	1.0	EACH	\$250.00	\$250.00	\$150.00	\$650.00	\$316.67
51	78000100	THERMOPLASTIC PAVEMENT MARKING - LETTERS AND SYMBOLS	1,082.0	SQ FT	\$5.00	\$5,410.00	\$4.00	\$4.65	\$4.22
52	78000200	THERMOPLASTIC PAVEMENT MARKING - LINE 4"	30,857.0	FOOT	\$0.50	\$15,428.50	\$0.50	\$0.54	\$0.51
53	78000300	THERMOPLASTIC PAVEMENT MARKING - LINE 5"	12,443.0	FOOT	\$0.75	\$9,332.25	\$0.55	\$0.55	\$0.55



Project: Washington St Resurfacing

Section: 19-00135-15-RS

Description: Mill and fill resurfacing

Item	Pay Code	Description	Quantity	Unit	Eng E	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Offic	Unit Price	Extnd. Price	Price	Price	Price
54	78000400	THERMOPLASTIC PAVEMENT MARKING - LINE 6"	7,092.0	FOOT	\$1.00	\$7,092.00	\$0.70	\$0.80	\$0.73
55	78000600	THERMOPLASTIC PAVEMENT MARKING - LINE 12"	4,509.0	FOOT	\$4.50	\$20,290.50	\$1.50	\$1.60	\$1.53
56	78000650	THERMOPLASTIC PAVEMENT MARKING - LINE 24"	465.0	FOOT	\$6.00	\$2,790.00	\$4.00	\$4.65	\$4.22
57	78006110	PREFORMED THERMOPLASTIC PAVEMENT MARKING - LINE 4"	4,505.0	FOOT	\$1.00	\$4,505.00	\$5.50	\$5.65	\$5.55
58	78009000	MODIFIED URETHANE PAVEMENT MARKING - LETTERS AND SYMBOLS	37.0	SQ FT	\$11.00	\$407.00	\$5.00	\$10.00	\$6.67
59	78009004	MODIFIED URETHANE PAVEMENT MARKING - LINE 4"	376.0	FOOT	\$1.00	\$376.00	\$1.00	\$1.60	\$1.20
60	78009005	MODIFIED URETHANE PAVEMENT MARKING - LINE 5"	311.0	FOOT	\$1.50	\$466.50	\$1.25	\$1.85	\$1.45
61	78009006	MODIFIED URETHANE PAVEMENT MARKING - LINE 6"	531.0	FOOT	\$2.50	\$1,327.50	\$2.00	\$2.25	\$2.08
62	78009012	MODIFIED URETHANE PAVEMENT MARKING - LINE 12"	292.0	FOOT	\$5.00	\$1,460.00	\$3.00	\$5.55	\$3.85
63	78009024	MODIFIED URETHANE PAVEMENT MARKING - LINE 24"	104.0	FOOT	\$10.00	\$1,040.00	\$5.00	\$10.00	\$6.67
64	78300200	RAISED REFLECTIVE PAVEMENT MARKER REMOVAL	1,768.0	EACH	\$9.00	\$15,912.00	\$1.00	\$7.79	\$3.26



Project: Washington St Resurfacing

Section: 19-00135-15-RS

Description: Mill and fill resurfacing

Item		21012021			Eng F	stimate	Min. Bid	Max. Bid	Avg. Bid
No.	Pay Code	Description	Quantity	Unit	Unit Price	Extnd. Price	Price	Price	Price
65	85000200	MAINTENANCE OF EXISTING TRAFFIC SIGNAL INSTALLATION	2.0	EACH	\$2,150.00	\$4,300.00	\$880.00	\$880.00	\$880.00
66	88600600	DETECTOR LOOP REPLACEMENT	349.0	FOOT	\$27.00	\$9,423.00	\$17.40	\$17.40	\$17.40
67	89502375	REMOVE EXISTING TRAFFIC SIGNAL EQUIPMENT	2.0	EACH	\$1,750.00	\$3,500.00	\$880.00	\$880.00	\$880.00
68	LC200051	REJECTED LOAD TRANSPORTATION	2.0	LOAD	\$500.00	\$1,000.00	\$250.00	\$550.00	\$366.67
69	LC200052	EXCAVATING EXISTING SHOULDER	25.0	UNIT	\$325.00	\$8,125.00	\$375.00	\$600.00	\$471.67
70	LC200501	MAINTENANCE OF TEMPORARY EROSION CONTROL SYSTEMS	22,172.0	UNIT	\$1.00	\$22,172.00	\$1.00	\$1.00	\$1.00
71	LC400202	SEAL COAT	386.0	SQ YD	\$40.00	\$15,440.00	\$6.50	\$10.00	\$7.67
72	LC600200	INSTALL SURVEY MONUMENTS	7.0	EACH	\$440.00	\$3,080.00	\$470.00	\$1,000.00	\$823.33
73	X0325748	ACRYLIC COATING	382.0	SQ YD	\$40.00	\$15,280.00	\$4.00	\$5.00	\$4.67
74	X0327036	BIKE PATH REMOVAL	145.0	SQ YD	\$15.00	\$2,175.00	\$19.00	\$24.70	\$21.57
75	X1800024	DECORATIVE STONE	1,392.0	SQ FT	\$5.00	\$6,960.00	\$14.50	\$18.00	\$15.83
76	X2700003	GROOVING FOR RECESSED PAVEMENT MARKING 8"	4,505.0	FOOT	\$1.20	\$5,406.00	\$0.75	\$0.75	\$0.75
77	X2800500	INLET PROTECTION, SPECIAL	2.0	EACH	\$250.00	\$500.00	\$300.00	\$540.00	\$380.00
78	X4401198	HOT-MIX ASPHALT SURFACE REMOVAL VARIABLE DEPTH	4,397.0	SQ YD	\$20.00	\$87,940.00	\$2.20	\$9.50	\$6.32



Project: Washington St Resurfacing

Section: 19-00135-15-RS

Description: Mill and fill resurfacing

ltem No.	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid	Max. Bid	Avg. Bid
					Unit Price	Extnd. Price	Price	Price	Price
79	X6030205	FRAMES AND GRATES TO BE ADJUSTED (SPECIAL)	11.0	EACH	\$1,100.00	\$12,100.00	\$880.00	\$1,400.00	\$1,160.00
80	X6700405	ENGINEER'S FIELD OFFICE, TYPE A (MODIFIED)	3.0	CAL MO	\$3,000.00	\$9,000.00	\$1,000.00	\$3,300.00	\$2,266.67
81	X7010216	TRAFFIC CONTROL AND PROTECTION (SPECIAL)	1.0	L SUM	\$135,000.00	\$135,000.00	\$14,475.00	\$126,800.00	\$63,370.00
82	X7030005	TEMPORARY PAVEMENT MARKING REMOVAL	15,115.0	SQ FT	\$0.50	\$7,557.50	\$0.01	\$0.30	\$0.11
83	X7830060	GROOVING FOR RECESSED PAVEMENT MARKING, LETTERS AND SYMBOLS	1,269.0	SQ FT	\$2.00	\$2,538.00	\$1.50	\$1.60	\$1.57
84		GROOVING FOR RECESSED PAVEMENT MARKING 5"	23,978.0	FOOT	\$0.50	\$11,989.00	\$0.28	\$0.30	\$0.29
85	A \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	GROOVING FOR RECESSED PAVEMENT MARKING 6"	12,443.0	FOOT	\$0.75	\$9,332.25	\$0.40	\$0.45	\$0.42
86	A \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	GROOVING FOR RECESSED PAVEMENT MARKING 7"	7,092.0	FOOT	\$1.00	\$7,092.00	\$0.55	\$0.57	\$0.56
87	A \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \	GROOVING FOR RECESSED PAVEMENT MARKING 13"	4,509.0	FOOT	\$1.60	\$7,214.40	\$0.95	\$1.60	\$1.38
88	x /x 30000	GROOVING FOR RECESSED PAVEMENT MARKING 25"	465.0	FOOT	\$3.00	\$1,395.00	\$1.50	\$3.00	\$2.50
89	X8140115	HANDHOLE TO BE ADJUSTED	1.0	EACH	\$1,000.00	\$1,000.00	\$2,347.00	\$2,347.00	\$2,347.00
90	XX005723	VIDEO DETECTION SYSTEM COMPLETE INTERSECTION	2.0	EACH	\$32,650.00	\$65,300.00	\$23,927.00	\$23,927.00	\$23,927.00



Project: Washington St Resurfacing

Section: 19-00135-15-RS

Description: Mill and fill resurfacing

Item	Pay Code	Description	Quantity	Unit	Eng Estimate		Min. Bid	Max. Bid	Avg. Bid
No.					Unit Price	Extnd. Price	Price	Price	Price
91	X X 1111h / 29	PERIMETER EROSION BARRIER, ROLLED EXCELSIOR	1,500.0	FOOT	\$4.00	\$6,000.00	\$8.50	\$10.00	\$9.00
92	XX008130	DRAINAGE STRUCTURES TO BE CLEANED AND GROUTED	69.0	EACH	\$350.00	\$24,150.00	\$475.00	\$525.00	\$508.33
93	Z0013798	CONSTRUCTION LAYOUT	1.0	L SUM	\$27,000.00	\$27,000.00	\$5,500.00	\$8,495.00	\$7,496.67
94	Z0033700	LONGITUDINAL JOINT SEALANT	38,191.0	FOOT	\$3.00	\$114,573.00	\$2.00	\$2.20	\$2.07
		Bid Total				\$2,965,213.40			